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Imagery patterned inereasingly on everyday speech. absence of inversions, stilted apostrophies. conventional end-rhymes. poetic language
ete.

Freedom from the ordinary logic of sequence, jumping from one image to the next by association rather than by usual cause-effect
route.

Emphasis on the ordinary, in reaction against the traditional poetic emphasis on the cosmic.
Concern with the common man almost to the exclusion of the ‘hero’ or extra-ordinary man.
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Imagery patterned inereasingly on everyday speech. absence of inversions, stilted apostrophies. conventional end-rhymes. poetic language
ete.

Freedom from the ordinary logic of sequence, jumping from one image to the next by association rather than by usual cause-effect
route.

Emphasis on the ordinary, in reaction against the traditional poetic emphasis on the cosmic.
Concern with the common man almost to the exclusion of the ‘hero’ or extra-ordinary man.
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Imagery patterned inereasingly on everyday speech. absence of inversions, stilted apostrophies. conventional end-rhymes. poetic language
ete.

Freedom from the ordinary logic of sequence, jumping from one image to the next by association rather than by usual cause-effect
route.

Emphasis on the ordinary, in reaction against the traditional poetic emphasis on the cosmic.
Concern with the common man almost to the exclusion of the ‘hero’ or extra-ordinary man.
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Imagery patterned inereasingly on everyday speech. absence of inversions, stilted apostrophies. conventional end-rhymes. poetic language
ete.

Freedom from the ordinary logic of sequence, jumping from one image to the next by association rather than by usual cause-effect
route.

Emphasis on the ordinary, in reaction against the traditional poetic emphasis on the cosmic.
Concern with the common man almost to the exclusion of the ‘hero’ or extra-ordinary man.
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TAE FoR Rk [ion 9@ T5F9 9§99 99[S AL F9 X9, (FARK (T SN FRoR GFarel
ATANGY (72 BT (I AT AT

WY WA SO B TS R

1. WTNEFH HIF A0 ZEL0ANE FAOE A@d
2. RO, et 259G SfRers WIrwe=e (619 A9
3. ZOEI9F ASIGAM WE ST T @ikve 2er
4. T fFoew= 2o
1 1
) 2
3) 3
4) 4

1[Option ID=18293]
2[Option ID=18294]
3[Option ID=18295]
4[Option ID=18296]

Sl. No.100
QBID:136100




fRare TR TS #f6 orF oero e 96 14T 100057 HPITFR0F ©7F Bod 1. 2,3 % 4 T [{Fgre2oq
TG =1 A1y ofFedn

FIRIS WHAFO] [F I (72 2T T8 A0F WA MW F2G 427 [FAAT YN *AGNEE WAS FNHS HAI-HNCNF

— l o i |
CET Y PR B ERGERE JIEIR b9 TTY~® 333[@% EIEIOIE] @.ﬂ@ﬂ SEFEP (T2 TTFEES A AT FI4lR-
Imagery patterned inereasingly on everyday speech. absence of inversions, stilted apostrophies. conventional end-rhymes. poetic language
ete.

Freedom from the ordinary logic of sequence, jumping from one image to the next by association rather than by usual cause-effect
route.

Emphasis on the ordinary, in reaction against the traditional poetic emphasis on the cosmic.
Concern with the common man almost to the exclusion of the ‘hero’ or extra-ordinary man.

WA FEEE [ TFIER 92 TMHENEIT FHE GFare ATN0Y 7% (@18 (NGOG I aTEF S
FRONS TN HYAF FROr I 7 A= PSRBT R0 BRI 57 (@ A FRAorT 2 WS T F370,
GL*1 *SHE NGS5 T GETHE, SR, WH %9 SRS [wed RGUTE FgIS G ToTed HIHK5E TG5O
et Fl9 Afsam (€ Tee FIF A9 AR WS FRo” TF =W TYES FROR QA1 961 4_19 56d =W
WS, A6 FREINAT 06| TR IGUS [[KIAIR (I FE QRO SR JIENS BT 7@ S99 JoA1 Bl

NS FfFers e [ER FREIEA = (@ N AAfoS TEE19F 161 [TE DG FU TS0 WG T1579) OIS
AGTZF — SR W W6l XF SINETAN [F8 =g Wg=F H[er T WAn- SEh0d o6 7' (72 WS FEeR
TSl Sseeel, Wsfores wfeaay ot 9o-[Afoq STUSIS G WifRg 50 2. (572 SIS0 TS I3 B W =1
O (T ATSIFLOI g T WOSEeE AFH FRA g FHrod ATGH| (T- TLEHR FE1 IG-[@Be [
TS GRS, NEGT YIMEIR WEHERTIE WF TG [ W AGI69 CFas NHT 71 (96 2o ¥ 467 g
TDTE IO B HR0E. OF AGrs NS B2 F 9 (FIEIeE AfEH (R FREE GFarsT iz [T Fg F194-
ASTT 2N4=T 1S FE0E ©IF ARMTSTAC (A NS J20S ASHAR W WIS SNIAH FROR To [F5]

...... ROT 1 RLF G TRSTE AN (B = ATIR (T (IR A5 oA SN FfRe 2w IS
=g (572 F1 Ffoxiie Sw) wgfas oS Sfher Ifeneas =i ¥ e 57 3@ wmz 68 oers o gfors
TAE FoR Rk [ion 9@ T5F9 9§99 99[S AL F9 X9, (FARK (T SN FRoR GFarel
ATANGY (72 BT (I AT AT

WG FRAGE GFAS (A1 (AT AL 2 4I_T (2R

. S W HAH BT LT=T
 TGLHE, IR I [$5 1 RO siies =
S £ U R [ E E A A G I |

1 1

() 2

@) 3

(4) 4

ba =

NE S

1[Option ID=18297]
2[Option ID=18298]
3[Option ID=18299]
4[Option ID=18300]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calecutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%0) of Job Vacancies
- 2010 2020
[Bangalore 15% 22%
Delhi 21% 20%
[Hyderabad 10% 8%
Pune 12% 6%
Chennai 2% 10%
NMumbai 10% 18%
Calcutta 24% 16%

frafeTRad arferet & ad 2010 3R 2020 & SR I YR W31 AMHG: 4R, [Eeell, gax@rs, gul, 997,
0iEg SR SaeTl § asel 3 Haftd Aot § Ridaat &1 ufawrd faawor exfa mare 1o 2010 iR
2020 % ERI 3 eI H RIKT! 1 o Hea HH: 5.4 TRI SR 8.6 ARG & | 39 dllfcrdpl H [qU Y
3PSl & YR TR Y FT 3L aIford -

TFiefal ot feaal o1 wear gz

Il B Rl Bl
e [EERURED)

D010 2020

SR [15% 2%

(Sl 21%  |20%

BeXEG [10% 8%

Ul 12% 6%

EEE 8% 10%

ey [10%  [18%

DAB 4%  [16%

What is the difference between the number of job vacancies available in Bangalore in the years 2020 and 2010
H

. 108200
. 113120
. 118400
. 96400
1) 1
(2) 2
(3) 3
(4) 4

a9 2020 3R 2010 & §TAR H Suas Al of Ridaal o 9= sidR fbar g 2

[

PSR

1. 108200
2.113120
. 118400
. 96400
(1) 1
(2) 2
(3) 3
(4) 4

e T

1[Option ID=19501]
2[Option ID=19502]
3[Option ID=19503]
4[Option ID=19504]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calecutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%0) of Job Vacancies
- 2010 2020
[Bangalore 15% 22%
Delhi 21% 20%
[Hyderabad 10% 8%
Pune 12% 6%
Chennai 2% 10%
NMumbai 10% 18%
Calcutta 24% 16%

frafeTRad arferet & ad 2010 3R 2020 & SR I YR W31 AMHG: 4R, [Eeell, gax@rs, gul, 997,
0iEg SR SaeTl § asel 3 Haftd Aot § Ridaat &1 ufawrd faawor exfa mare 1o 2010 iR
2020 % ERI 3 eI H RIKT! 1 o Hea HH: 5.4 TRI SR 8.6 ARG & | 39 dllfcrdpl H [qU Y
3PSl & YR TR Y FT 3L aIford -

TFiefal ot feaal o1 wear gz

Il B Rl Bl
e [EERURED)

D010 2020

SR [15% 2%

(Sl 21%  |20%

BeXEG [10% 8%

Ul 12% 6%

EEE 8% 10%

ey [10%  [18%

DAB 4%  [16%

What is the average of number of job vacancies available in Hyderabad in the years 2020 and 2010 ?

. 41080
. 42740
. 61400
. 62800
(1) 1
(2) 2
(3) 3
(4) 4

Ty 2020 3R 2010 T SREIS & Iua A gl &t Rigaa! ot siad T fea-i g 2

[

o

1. 41080
2.42740
. 61400
. 62800
1)1
(2) 2
(3) 3
(4) 4

NENE 4]

1[Option ID=19505]
2[Option ID=19506]
3[Option ID=19507]
4[Option ID=19508]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calecutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%0) of Job Vacancies
- 2010 2020
[Bangalore 15% 22%
Delhi 21% 20%
[Hyderabad 10% 8%
Pune 12% 6%
Chennai 2% 10%
NMumbai 10% 18%
Calcutta 24% 16%

frafeTRad arferet & ad 2010 3R 2020 & SR I YR W31 AMHG: 4R, [Eeell, gax@rs, gul, 997,
0iEg SR SaeTl § asel 3 Haftd Aot § Ridaat &1 ufawrd faawor exfa mare 1o 2010 iR
2020 % ERI 3 eI H RIKT! 1 o Hea HH: 5.4 TRI SR 8.6 ARG & | 39 dllfcrdpl H [qU Y
3PSl & YR TR Y FT 3L aIford -

TFiefal ot feaal o1 wear gz
Il B Rl Bl
e [EERURED)
D010 2020
SR [15% 2%
(Sl 21%  |20%
BeXEG [10% 8%
Ul 12% 6%
EEE 8% 10%
ey [10%  [18%
DAB 4%  [16%

What is the total number of job vacancies available in Chennai in 2010 and in Mumbai in 20207

. 1.92 lakh
.1.98 lakh
. 2.04 lakh
. 2.16 lakh
(1) 1
(2) 2
3) 3
(4) 4

ay 2010 H I98 3R 94 2020 T Gis 8 IUds A6l B Rigadl @1 od @ e § 2

[

N ]

1. 1.92 ¢g
2.1.98 G
3.2.04 79
4. 2.16 TG
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19509]
2[Option ID=19510]

3[Option ID=19511]
4[Option ID=19512]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calecutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%0) of Job Vacancies
- 2010 2020
[Bangalore 15% 22%
Delhi 21% 20%
[Hyderabad 10% 8%
Pune 12% 6%
Chennai 2% 10%
NMumbai 10% 18%
Calcutta 24% 16%

frafeTRad arferet & ad 2010 3R 2020 & SR I YR W31 AMHG: 4R, [Eeell, gax@rs, gul, 997,
0iEg SR SaeTl § asel 3 Haftd Aot § Ridaat &1 ufawrd faawor exfa mare 1o 2010 iR
2020 % ERI 3 eI H RIKT! 1 o Hea HH: 5.4 TRI SR 8.6 ARG & | 39 dllfcrdpl H [qU Y
3PSl & YR TR Y FT 3L aIford -

TFiefal ot feaal o1 wear gz

Il B Rl Bl
e [EERURED)

D010 2020

SR [15% 2%

(Sl 21%  |20%

BeXEG [10% 8%

Ul 12% 6%

EEE 8% 10%

ey [10%  [18%

DAB 4%  [16%

If the number of vacancies in Pune is 48000 in the year 2020 and the percentage distribution is same as given
in the table, then what is the number of vacancies available in Delhi in 2020 ?

. 1.20 lakh
. 1.32 lakh
. 1.48 lakh
. 1.60 lakh
1) 1
(2) 2
(3) 3
(4) 4

af ay 2020 § gu1 & Ridadl @1 T 48000 § AR ST HIcr=Id [Ga=0l 41 g1 § Sram arfard 3 f&ar 1
®, 1 a9 2020 H el & Guare Rfgaal @5t Go foa 8 2

. 1.20 @9
1,327
. 1.48 ¥
. 1.60 Tilg
1) 1
(2) 2
3) 3
(4) 4

[

L

B

1[Option ID=19513]
2[Option ID=19514]
3[Option ID=19515]
4[Option ID=19516]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calecutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%0) of Job Vacancies
- 2010 2020
[Bangalore 15% 22%
Delhi 21% 20%
[Hyderabad 10% 8%
Pune 12% 6%
Chennai 2% 10%
NMumbai 10% 18%
Calcutta 24% 16%

frafeTRad arferet & ad 2010 3R 2020 & SR I YR W31 AMHG: 4R, [Eeell, gax@rs, gul, 997,
0iEg SR SaeTl § asel 3 Haftd Aot § Ridaat &1 ufawrd faawor exfa mare 1o 2010 iR
2020 % ERI 3 eI H RIKT! 1 o Hea HH: 5.4 TRI SR 8.6 ARG & | 39 dllfcrdpl H [qU Y
3PSl & YR TR Y FT 3L aIford -

oot @1 Rt &1 vear e

Il B Rl Bl
e [EERURED)
D010 2020
SR [15% 2%
(Sl 21%  |20%
BeXEG [10% 8%
Ul 12% 6%
EEE 8% 10%
ey [10%  [18%
DAB 4%  [16%

What is the approximate percentage rise in job vacancies available in Hyderabad from year 2010 to 2020 ?

23215,
24.52%
.26.24%
.27.41%
(1) 1
(2) 2
(3) 3
4) 4

ay 2010 ¥ Y 2020 TP gaaIE A Iuds 1wl B Ridadl # em o ufowa &1 gls g 2

.23.21%
24.52%
. 26.24%
. 27.41%
1) 1
(2) 2
(3) 3
(4) 4

b2 =

N ]

o=

e T

1[Option ID=19517]
2[Option ID=19518]
3[Option ID=19519]
4[Option ID=19520]
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The current SWAYAM platform is developed by the Ministry of Education and NPTEL, IIT Madras with the
help of .

A, Infosys Ltd.

B. Google Inc.

C. TCS

D. HCL Ltd.

E. Persistent System Litd.

Choose the correct answer from the options given below:

1. B and D only
2. Cand E only
A and C only
.B and E only
1)1
(2) 2
3) 3
(4) 4

gaH H a0 (SWAYAM) & WewH 4§ ¥ forad Tgai I e damed iR eididisud (NPTEL),
TS 3RS (IIT) TSI gRI fasid fhar T g |

A oIy fafies
B. A 5.
c. iy
D. TTiUd f[eifies
. ufiiede firen fafies
i feu Ty faedl & § Hel STk &1 90 BIflT:

1. $aa B 3R D

. FaAC IRE

FHadA IR C
4. %aAB IR E

1 1

) 2

3) 3

(4) 4

2

faa k2

1[Option ID=19521]
2[Option ID=19522]
3[Option ID=19523]
4[Option ID=19524]

Sl. No.107
QBID:9201007

Match List I with List IT

LISTI LISTII
(Fomponenis) (Learning Theory)
A [Stmulus-Response I |Cognitivism
B. [Networking II. |Constructivism
C. |Schemas 111 |Behavicurism
D. |Reasoning IV. |Connectivism

Choose the correct answer from the options given below:

. A, B-II, C-III, DIV
. AJIL B-IV, C-I, D-II
. A-IV, B-I, C-II, D-III
. AL B-IV, C-III, D-I
(11
() 2
(3) 3
(4) 4

[ S

R R




el 191 Il 11 ¥ e sifee

A1 =
(UTH) (&rﬁ"mﬁ?ﬁ'ﬁ)
i

A [GEITE-3MEfE aTG
B. Heafdb I [d=aag
C. [FoE 1. [oIdgRag
D. [gdar IV, [gareHare

frafead facedt o 9 9t SR @1 =g DI :

1. A-L, B-II, C-III, D-IV
2. AL B-1V, C-I, D-II
. A-IV, B-1, C-II, D-III
. AL, B-IV, C-III, D-I
1) 1
(2) 2
3) 3
(a) 4

S S

1[Option ID=19525]
2[Option ID=19526]
3[Option ID=19527]
4[Option ID=19528]

Sl. No.108
QBID:9201008

What does the letter 'R’ in instructional design model of teaching 'ASSURE' stand for?

1. Require Teacher Participation
2. Require Learner Participation
3. Require Society Participation
4. Require Parents Participation

1)1

2) 2

3) 3

(4) 4

FR1&f01 B SR Siiided AT 'ASSURE' H 38R R’ fdhads g amar g »

. SHTID WIAHITT @1 Y& 3Tavgddl

. AT Eal ufquriiar & e aeaddr
. TS B WIAHTRTGT S sTaRaasdl

. HTd1-T0aT &1 HiaHIHTd 1 Sasadsd]

(1) 1

2) 2

(3) 3

(4) 4

B

1[Option ID=19529]
2[Option ID=19530]
3[Option ID=19531]
4[Option ID=19532]

Sl. No.109
QBID:9201009

Given below are two statements:

Statement-I The basic function of exploratory case studies is to identify questions and select types of measurement before the main
mnvestigation

Statement II: The basic function of cumulative case studies is to make unfamiliar familiar and to give readers a common language about
the topic in question.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.
(1) 1
(2) 2
3) 3




(4) 4

Bl AR RIC ATt S

TUA [ : AN USR] () S| T Wi P IRe S-a90 &1 T Ugd vdl &1 RifRd &1 iR
H19 & TR BT 98 BT ¢ |

FHUF 11 : GOl x0T () ] o] WU ST AR i J1d ST 3R [T 0y & aR § 98a]
& o0 U S YIS U BT S |

BRI B & Aelie 0, 1= U e f[awed! ¥ 3 Had 3Uga SR BT 99 BIU:

1. HYF 1 3R 11 51 Tal §
2. Y1 AR 1L I TTed g

3. HY 1 UG B, A HYH 11 Tad 8|
4. BYF 17TAd &, Afdh HU 1 Jal g

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=19533]
2[Option ID=19534]
3[Option ID=19535]
4[Option ID=19536]

Sl. No.110
QBID:9201010

Given below are two statements:

Statement-I SWAYAM Prabha is an initiative of the Ministry of Education.
Statement II: The DTH channels are using the INSAT-30 satellite for Program telecasts in SWAYAM Prabha.
In the light of the above statements. choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement IT is true.

(1) 1
(2) 2
(3) 3
(4) 4

TR AU E:
TUF 1 : TG UHT (SWAYAM Prabha) fIeT THTT0 &1 U& Tea € |

YA 11 : DTH 96 W4 (SWAYAM) WHT & S HI & TR & U 3792-30 3998 BT STN R e ©
|

SWRIG HY & Al H, = fu e fowedt & ¥ I5l S| &1 9g- Sifon:
1. YT 1 AR 11 ST T B
2. HYT T AR IT EHT 3 &

3. PYT 1 9d ©, A DU 1L A B

SR

4. Y1 3T B, A HYT 11 T B
1) 1
@) 2
(3) 3
4) 4
1[Option ID=19537]
2[Option ID=19538]

3[Option ID=19539]
4[Option ID=19540]
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Given below are two statements:

Statement-I The null hypothesis for testing of difference between means is generally stated as Ho: py # py,

where (uy) and (p,) are the population means of the two populations, respectively.

Statement II: When samples happen to be small samples and population variances are not known but assumed
to be equal, Z-test is employed for testing the null hypothesis.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.
. Statement I is true but Statement I is false.
. Statement I is false but Statement II is true.
(1) 1

(2) 2

(3) 3

(4) 4

TR APy Ry E:

BYUA L : Hehl & a9 SiaR &b URIEUT o (o Y YRS B SHAR IR 59 UHR SHiyoue fodl ofdl s -
Ho : ) = 1y, 1y 3R i, & TS & HHRI: SHEE T § |

HY 11 : Ofd Wiaes B1C Wiee s 81d & SfR S EeT YRR ST €I § U 99 9 i oI 8, 99 3
GREGIT & YRI&I0T & (oY Z-URI&10T &1 W (5T ST § |

SR BYU & Acies J, - AT e fdwedl # 3 3ol SR @1 9 @i
1. PYTI ARSI T B
2. FUT 1 AR I SHT ST B

3. BY 1 A &, At BT 11 A B

NES V)

4. Y1 3T B, A YT 11 I B
(1) 1
@) 2
3) 3
4) 4
1[Option ID=19541]
2[Option ID=19542]

3[Option ID=19543]
4[Option ID=19544]

Sl. No.112
QBID:9201012

If a researcher wants to select a sample from a population such that each member in the population of interest
has an equal chance of being selected in the sample, the researcher is following:

1. Quota sampling

2. Convenience sampling
. Purposive sampling

. Random sampling

L

(1) 1
(2) 2
(3) 3
(4) 4

2 U ywdl s9ed § Ufdest 1 994 59 YHR J T3-1 9164l & [ 960 -9 § Ud® 9= &
yfre sl =0 § I 2/awR Ui BT €. 1 59 1Y & uiaesf 9oH Fefafaa d a sHag 0

Bl ufiesl 987

. FfderiTer gides @

S s 90
4. el wlaesl 9o

(1) 1

@) 2

L




3) 3
(4) 4

1[Option ID=19545]
2[Option ID=19546]
3[Option ID=19547]
4[Option ID=19548]

Sl. No.113
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In the context of bibliographies and footnotes researchers sometimes use the abbreviation 'tr' which means:

. transit

. transported
3. translated
4. transcript

(1) 1

(2) 2

3) 3

(4) 4

Ty gt iR U fewufi & ded d, mai-anfi wiyeal HauieR 1 &1 Wi od § orel U g

ba -

1. JRded
aifed

3fed
yfafertd

oo

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19549]
2[Option ID=19550]

3[Option ID=19551]
4[Option ID=19552]

Sl. No.114
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Given below are two statements:

Statement-I Quantitative research is typically highly structured whereas in qualitative research, the approach is
invariably unstructured.

Statement II : Both quantitative and qualitative research are concerned with data reduction.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement IT are incorrect.

. Statement I is correct but statement II 1s incorrect.
. Statement I is incorrect but Statement II 1s correct.

(1) 1
(2) 2
(3) 3
(4) 4

@ Py Ry #:

HYA I : AT <N fafRipd: Sifde wRid gial g, Safd e iy § Wiy SuRH FRiarg =0 9
RIS |

BUA 1T : HEATEHD SR VTS &l UPR & WY SHips! o GrAIo § HafUd sid & |
SR HYU & Helied 1, =< f3U e fghedl @ 9 Had IUgad 3wk BT 99 BIfo:
1. YA 1 AR 11 S el § 1
2. Y1 AR 11 3 Tad B
3. BYT 1 Fel 8. Afp- YA 11 7Tdd 6
4. YT 17TAd &, Afth YU 11 TT 8

(1) 1

b =

ES S




) 2
(3) 3

4) 4

1[Option ID=19553]
2[Option ID=19554]

3[Option ID=19555]
4[Option ID=19556]

Sl. No.115
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A student commits Level 2 plagiarism while submitting thesis/dizssertation. As per UGC regulations, the

student shall be :

. Debarred from submitting a revised secript for a period of one year.

. Debarred from submitting a revised script for a period of 6 months

. Asked to submit a revised script within a stipulated time period not exceeding one year.
. Asked to submit a revised script within a stipulated time period not exceeding 6 months.

[ SR

da

1) 1
(2) 2
(3) 3
(4) 4

U faemedl [ayfa=er saM i & [aadl & FaR o9 Qe Uee/ay 2y vay § 9t 9kl &
TR 2 HIHRY Sl s | 9 T s siaria foemif o1 <& forar smom »

1. % g @1 3faft) & [Tu AT Uigaft o1 S 9 aford o fadl s

.6 18 B1 3fafd o feTu WA uiglarit S| &=  afold @ faar S|

UH N B 3@y & 3iex ST grmmaly o SR gigiifd 5 $=- & el |
.6 T8 I 3Gy & e afUd gugafy ¥ F=Nfdd uiglaft SH1 B &l Sgl S|

1) 1
(2) 2
3) 3
(4) 4

FE UV ]

1[Option ID=19557]
2[Option ID=19558]
3[Option ID=19559]
4[Option ID=19560]

Sl. No.116
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According to Pierre Bourdieu cultural capital, through communication is for:

. Political benefit

. Military benefit

. Trade benefit

. Socio-cultural benefit
(1) 1

(2) 2

(3) 3

(4) 4

oo Sy & F{aR, SUNU & 199 3§ Sgiad Yol 9 FHifed ud giarg

1. SIS o
2. Jg ey
3. SR &4
4. HID-HRP e TAH
1) 1
2 2
3) 3
4) 4

R

1[Option ID=19561]
2[Option ID=19562]
3[Option ID=19563]
4[Option ID=19564]

Sl. No.117
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Inter-personal communication is most often considered as :

1. Dyadic
2. Within oneself
3. Many-to-many
4, One-to-huge masses
(1) 1
(2) 2
(3) 3
(4) 4

R-qufaded JUYUI U: 59 39 § GHAT N1 © -
1. TS (SAfSH)

2.0
3. 95 9 954 B 3R
4. U T A=l SHEgl @t 3R
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19565]
2[Option ID=19566]

3[Option ID=19567]
4[Option ID=19568]

Sl. No.118
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The mechanical model of communication is characterised by:

A. Multiple-way flow
B. One-way flow

C. From one-to-many
D. Anonymity

E. Active audience.

Choose the most appropriate answer from the options given below:

A, Band C only
.B. Cand D only
.C.Dand E only
A.Dand E only

b2

ES e

(1) 1
(2) 2
(3) 3
(4) 4

o & Tife Asa (widen) 3 faRman g »

A ggfay-Antl varg
B. U%-HNl yalg
C. TH ¥ 3FT BT 3R

D. STl
E. Withd axfe/gid
-4 fau e fasedl & ¥ 9 3ugad IR &1 99 Hifee:

1. 3T A, B AR C
2.%dd B, C ARD
3.%aAC, D ARE
4. %I A, D ANE

1) 1

) 2

@) 3

(4) 4

1[Option ID=19569]
2[Option ID=19570]
3[Option ID=19571]
4[Option ID=19572]




Sl. No.119
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Given below are two statements: |

Statement I : In communication, semiotics has the objective of describing how meaning is generated.
Statement II: It is said that semiotics posits the meaning that is human construct of an observer.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4. Statement [ is false but Statement II is true.

1) 1
(2) 2
3) 3
(4) 4

19 & w fRg T &
FHY 1 : ST H, T&hd 33 B 591 aufH - ST 35 gidT ¢ & o 8 R oman g |
@ 11 : U8 HEI W1 © (S Hebd (G371 I8 [1=dl & 19 31 [l Uerep &1 oria Fa § |
SRITd HYT & e 1, Fi= 3 1 et & 3 98 3 &1 997 S

1. BT SR I §A B
BYFT AR 11 & A5

3. PUT 1 JA B, A HYT 11 T 8

ko =

[ 3]

4. PYF1 AT T, AP PUT 1 TA B
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19573]
2[Option ID=19574]

3[Option ID=19575]
4[Option ID=19576]

Sl. No.120
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Given below are two statements:

Statement I : Communication has the power to define, persuade and inform issues and events to the people.
Statement II: Communication cannot serve as a tool of demarcation among people.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement I are true.

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I s false but Statement IT is true.

(1) 1

(2) 2

(3) 3

(4) 4

ko =




TR APy Ry E:

WF{%I - HOoT H AT 9 ST g iR gensf &1 uRYItd &4, 993 SR 9iad &3 &1 9ifda [fed
Bl |

P 11 - IO Al § iHied & U 9eE & =9 1 9aT Tel sR ISdl g |
IRIF HYA $ Aaies 1, H1d feu 70 fowedi § U Ug] SR &1 99 Hifelt:
1. B AR I T G
2. B AR I GHI 3T B

3. BYT 1 9d ¢, A BUT 11 39 B

4. PY1 AT B, Afp YT 11 9 B
(1) 1
) 2
(3) 3
(4) 4
1[Option ID=19577]
2[Option ID=19578]

3[Option ID=19579]
4[Option ID=19580]

Sl. No.121
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Two old cars are sold for Rs. 48,000 each. One is sold at a profit of 20% and another at a loss of 20%. Find the
net profit/loss percentage and the total amount of profit/loss.

1. 4% loss. Rs. 4,000 loss

2. 4% profit, Rs. 4,000 profit
. 5% loss, Rs. 4,000 loss

. 2% profit, Rs. 2,000 profit
(1) 1

(2) 2

3) 3

(4) 4

QR PRI T 4 Tde Bl 48000 UG T &1 1A § | U Pl 20% o A1H TR &1 STl & SR GH Pl
20% BT R ST ST § | §d §U A1M/g1H Wii=id 1 auT ard/eTH &1 o o 1131 J1d B |

. 4% BT, 4000 394 BIH
. 4% TIH, 4000 394 Y
% BT, 4000 ¥9Y TIH
» WY, 2000 TG4 TATY

da o

S O
Ln

2
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19581]
2[Option ID=19582]

3[Option ID=19583]
4[Option ID=19584]

Sl. No.122
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If 10™ term of an Arithmetic Progression (AP) series is 34 and the difference between any two consecutive
terms is 3, then find the first term of the series.

1.16
2.10
7
=13
1) 1
(2) 2
3) 3
(4) 4

N S




afe; ot gt goft (udh) daen § 1067 U 34 3 SR =81 &l HHNId Ual & 9€7 3=k 3 8, 76 §@al &
UYH Y& Pl F1d DT |

1.16
210
a7
.13
1) 1
(2) 2
(3) 3
(4) 4

N ST}

1[Option ID=19585]
2[Option ID=19586]
3[Option ID=19587]
4[Option ID=19588]

Sl. No.123
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The average age of a committee of 10 members is 42 years. A member of age 53 retires and a new member of
age 45 years takes his place. What is the average age of the new committee?

. 39.5 years
. 41.2 years
. 38.2 years
. 40.7 years
1) 1
) 2
(3) 3
4) 4

10 TS E arell forsit Ififa 1 Siud Smg 42 T § | U 53 8 &1 31 ATl 9aed Ya1-gd oidl § R
SUD] WH UF 45 T & U U IS8 gRI a1 o1l § | 36 39 s 9iifd i 39d 31 a1 2

.30.5TY
4127
.38.2TY
.40.7 T
(1 1
2) 2
3) 3
4) 4

b =

PSR

O O

1[Option ID=19589]
2[Option ID=19590]
3[Option ID=19591]
4[Option ID=19592]

Sl. No.124
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Consider a two digit number. If the digits of this number are interchanged, the new number obtained is lesser
than the original number by 18. If the sum of the digits of the number is 12, then find the original number.

e s kD =
A I~ ]
[ B [

(1) 1
(2) 2
(3) 3
(4) 4

I 3! B TEn R faaR SIS | afe 39 Tem & P & fcd-gcd $R ol old! 6, a9 g W e
Ugd 1 () =1 4 18 FH 51 9l ¢ | TS TA1 &P il &1 a1 12 8, 79 Tgd 1 () W= J1d Siog
|

fouks
~1 o
=




(4) 4

1[Option ID=19593]
2[Option ID=19594]
3[Option ID=19595]
4[Option ID=19596]

Sl. No.125
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In a certain coded language: (A) 'muj paa doda' means 'bring me water' (B) 'paa jo toda' means "water is life' ©
'Jo lin kota' means 'life and death'. Which of the following represents 'is' in that coded language?

A, 'Muyj paa doda' &1 3ref e i areR
B. 'paa jo toda @I 34 AR 591 AT
C. 'Jo lin kota' T 3¢ AEE UUS SY

39 Peds YN H FEfiiad § 9 o1 i & Fefid seal g 2

1. paa
2. kota
. toda
Jo

e S

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19597]
2[Option ID=19598]

3[Option ID=19599]
4[Option ID=19600]

Sl. No.126
QBID:9201026

"Ten milligrams of substance X was fed to ten mice. All of them died within two minutes. One could conclude.
This amount of substance iz fatal to the average mouse". Which of the following statements regarding above
argument are true?

A. Tt commits the fallacy of Hasty generalization.
B. It commits the fallacy of Irrelevant conclusion.
C. It is a strong inductive argument.
D. It is a weak deductive argument.

Choose the correct answer from the options given below:

. Aonly

.B and C only
.B and D only
. C only

1) 1

(2) 2

3) 3

(4) 4

[ SR

= W




"X uard &1 10 iR 10 g1 1 Raamr mar | 9 i 31 e § 5RO | Dig 9% Hhy Hard 9edl o
%Xwﬁgﬁaﬂ:ﬁw 3{9d-Y H 951 & [0 urae & 1" SWRida gfaa & vay & Fafired oH-9
FUTFAE 2

A. 394 ifaert IERfieRU BT aHam § |
B. 59¥ yfagior Rifg w1adan g |

C. T8 TP gee HAFTHATES Ifei ¢ |

D. UE U% SR FHHAES giad § |

14 f4u U faoedl § ¥ e SUgad Iox &1 90 B I1ed:

1.$Had A
2. FaaB 3R C
3. %ad B AR D
4.%ad C

1 1

) 2

3) 3

4) 4

1[Option ID=19601]
2[Option ID=19602]
3[Option ID=19603]
4[Option ID=19604]

Sl. No.127
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If the statement 'all golf players are rich persons' is given as true which of the following statements can be
inferred to be true ?

A. No golf players are rich persons.

B. Some golf players are rich persons.

C. Some rich persons are golf players.

D. Some golf players are not rich persons.

Choose the correct answer from the options given below:

.B and D only
.B and C only
.Aand D only
.Cand D only
(1) 1
) 2
3) 3
(4) 4

afg HoF Tt Miew-faaret ot oofd & 1 98t & w0 H famn mar @ 99 Fefafed sH-w $uE v gh
& 39 AT A o 9@ g |

A B W Tiew fgars! ot safda 8T & |
B. T Ted (Gars! Y= oAfaa 6 |

C. T Y1l ofdd TTed (Gl g |

D. $T Tiew fAars! vl afda i & |

=i feU T fop el H ¥ o SUgad SR $1 90 HIW:

1.Fa@ B IR D
2. HBIAB IR C
3.%ad A AR D
4.%ad C 3RD

1 1

) 2

@3) 3

4) 4

ko =

SN TS

1[Option ID=19605]
2[Option ID=19606]
3[Option ID=19607]
4[Option ID=19608]

Sl. No.128
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Which of the following statements is contradictory to the statement-" all dogs are friendly animals" ?

. No dogs are friendly animals.

. Some friendly animals are not dogs.
. Some friendly animals are dogs.

. Some dogs are not friendly animals,

b2 -

NN V]

(1) 1
(2) 2
3) 3
(4) 4

FrafRad @ 9§ & H-91 $uF, "9 $ BEad o6 g Y= S Ml g 2

1. 15 i T fmad TR 6§ |
2. 9% fEad TR FU AL & |
3. 59 THad AR $U ¢ |
4. 5% T PEad TAR TR |
(1) 1
) 2
3) 3
(4) 4
1[Option ID=19609]
2[Option ID=19610]

3[Option ID=19611]
4[Option ID=19612]

Sl. No.129
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Which of the following statements are logically equivalent ?

A. Some fishes are not amphibians.

B. Some fishes are amphibians.

C. Some fishes are non-amphibians.

D. Some non-amphibians are not non-fishes.

Choose the correct answer from the options given below:

. A and B only

A, Band C only
A, Cand D only
.Cand D only
1)1

2) 2

(3) 3

(4) 4

[FafiREd ®H-3 YA diide =4 ¥ 9aged § 2
A T TSRl SUTR T8 |
B. $© A0l 3HTER ¢ |
C. T Holadl IR-3YTER G |
D. T% IR-JUTR, RIS 81§ |

19 fau e fasedl O § 9ad IUgad SR &1 99 Hifeld:

ba -

e L

1[Option ID=19613]
2[Option ID=19614]
3[Option ID=19615]
4[Option ID=19616]

Sl. No.130
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"There is smoke on the distant hill. Since smoke is always accompanied by fire, the hill must have fire too."
Which of the terms corresponds to the Sadhya (major term) in the above argument according to classical
Indian school of Logic?

1. Hill
2. Fire
3. Smoke
4, Smoky hill
(1) 1
(2) 2
(3) 3
(4) 4

"R TRy gdd R ¢31T 3 | Fifes et ¢l 5IaT & a8l Uaa 31 il 3, 9dd W Sia=d gl o1 ot gl
frr%?'%mﬁulm’iu YR ARAT & AR SURIed gfad | fHaiferd oiH-91 U @1w (& Ug) &
JR=Y 87

1.9dd

ST

Yy

. YHHT gdd
(1) 1

(2) 2

3) 3

(4) 4

LT o

1[Option ID=19617]
2[Option ID=19618]
3[Option ID=19619]
4[Option ID=19620]

Sl. No.131
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A song stored on a CD is, on average, 4 MBytes in size, Amit wishes to transfer 4000 such songs on to a
memory stick. Estimate the minimum size of memory stick, in GB, that Amit will need to use.

8GB

16 GB
32GB
24 GB

e a2

(1) 1
() 2
(3) 3
(4) 4

TSt i Harfed 1fia, 3iae sreR & 4 BErge giar e | 34 T 4000 1 & 90N e § wmidfa
HAT 51 § | HTDHTH BHIo 16 I DI 1T a15e J AT [59 HR B JHRI s &1 Jai Fe
B HTITHA B |

R I
16 T aTEeH
32T ERey
247 Ay
1) 1
@ 2
3) 3
(4) 4

N

1[Option ID=19621]
2[Option ID=19622]
3[Option ID=19623]
4[Option ID=19624]

Sl. No.132
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Which of the following statements are true ? 5G-enabled technology will soon replace 4G-enabled technology
for mobile communication worldwide. Potential advantages of 5-G enabled mobile technology include:

A. Greater interconnectivity for Internet of things
B. Greater download speeds

C. Less bandwidth

D. Greater end-to-end delay.

Choose the correct answer from the options given below:

A and B only
.B and C only
. Cand D only
.Aand D only
1) 1
(2) 2
3) 3
(4) 4

TS Yoo & o fayoardt TR OR 4 T et @f soft wafia aenfe <t o ufawnfig
o2 2ff | soit gufifa Desa veEife & durer ardl § Fefafea & S sar wnfie g 2

A. Fee o g 3 e sia-arsHiaar
B. SIS @ ST fd

C. FH dsldgy

D. T& RR 9 g RR d@ 31io faum

A= feU 7Y faoedl & T "5l SR &1 90 BT

1. 3G A 3R B
2. FHaaB AR C
3. %ad C AR D
4. FAAAIRD

1 1

) 2

3) 3

4) 4

Lo b

1[Option ID=19625]
2[Option ID=19626]
3[Option ID=19627]
4[Option ID=19628]

Sl. No.133
QBID:9201033

Given below are two statements: With reference to digital initiatives of Government of India.

Statement I : BHIM is a payment app that lets you make simple, easy and quick transactions using Unified
Payments Interface (UPI)

Statement II: Courses delivered through SWAYAM platform are made available at minimal cost.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement I is false.
4. Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

(4) 4




YR PR B 3 1Y Tgadaadl & ded d F= s faumu g:

HUA 1 - TFSETH (HH) U U1 Y71 T § Sff 310! gHhIgs GHcH TT (QUies) ol WaiN B R,
T IR g0 HOIaER 3 3T ¢ |

HUF 11 : WA WEHH & A1 ¥ Ued UIsdsh T IAad AnTd IR SUas § |
SWRIF PYF & ATelS H, = fU MU famedi § T el SR &1 994 DI
1. BT SR I G T B

2. FYA1 AR GHI A B

3. U 19 8, At U 1T SH 3

4. PY1 AT B, Afp YT 11 9 B
(1) 1
) 2
(3) 3
(4) 4
1[Option ID=19629]
2[Option ID=19630]

3[Option ID=19631]
4[Option ID=19632]

Sl. No.134
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Which one of the following acronyms is matched incorrectly with its full form?

. BIOS - Basic Input/Output system

. PDA - Personal Digital Authentication
. GUI - Graphical User Interface

. WWW - World Wide Web

1) 1

(2) 2

(3) 3

(4) 4

frafafaa & ¥ o a1 S Tm oA R 0 3 98 e I A e g 2

1. g siuy - §if® gge/sm3eye Red
2. U810 - gdAa fSofied airdfese
3. SgaTs - Wb Hd JoR 5ehd
4, %Y Sy 5o - dco dIgS 4
1) 1
) 2
3) 3
(4) 4

b -

FER )

1[Option ID=19633]
2[Option ID=19634]
3[Option ID=19635]
4[Option ID=19636]

Sl. No.135
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Identify the correct order of the following terms A-D to complete the sentences given below about digital still
and video cameras: Cameras that handle a higher number of will be able to capture more details than
those with a lower number. Images that are stored in a format have not been processed and will take up
more storage space than images that are stored in a format. The  of your storage device determines
how many images you can store.

A JPEG

B. Raw

C. Megapixels
D. Capacity.

Choose the correct answer from the options given below:

1.C.B.A.D
2.A,D.B.C
B EAD
.D.B.A,C
1) 1
(2) 2
(3) 3
(a) 4

feeiiea fed iR difsar RI & Hay & (7 ol &1 R H= & fog Fefifed el A-D & el sy
P UgdH HIoTT :

B IR U1 B U aTd BT 3] HH T 1l Bt g1 3§ 318 [daxon urd &
aTe | WY U STRG Badl BT WeHul Tel [ T SR =Y F jsiika sfagl
@1 g | 3iYe USRI RIF Tt | 3 USRI JUHR0T &1 Feiid @xar g & oy -
B9yl B HSRU DR D] |

A, Sdigolt

B. 3RUS&Y
C. Fmfoesa

D. &Hdl
i feu U fasedl | 3 To! IR &1 90 Bl

S S5

1.C.B:A; D
22A.D.B.C
3.B.C.A.D
4. D.B.A.C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19637]

2[Option ID=19638]

3[Option ID=19639]
4[Option ID=19640]

Sl. No.136
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Given below are two statements:

Statement-I United Nations General Assembly declared 2010 as International Year of Biodiversity.
Statement II : 2010 was also the target year to achieve the halt in the decline of biodiversity.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.

(1) 1

(2) 2

3) 3

(4) 4

[ SR




R APy Ry E:
HYUT T : HYKI Y BT HERIHT - Y 2010 DI STRAP oid fafderar avf gifdd far o |
HYA 1 : 2010 I8 Aiera gy ot o1 ford o fafawar 9 gra & fovm &1 urd Sr T |
TR DU B 3l 1, i U U [gepedl H I Had Sugad STk &1 99 Bifofg:
1. YA 1 SR 11 g Hel 8
2. BYA R I &HI TTad 6|
3. YT 1 Tel 8, A HYUT 11 TTad 5l
4. BYF17TAd &, Afd ST 1 T8T 8

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=19641]
2[Option ID=19642]
3[Option ID=19643]
4[Option ID=19644]

Sl. No.137
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Given below are two statements:

Statement-I Vision of International Solar Alliance; Every home no matter how far away, will have a light at
home.

Statement IT : Mission of International Solar Alliance: Let us together make sun brighter.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.
(1) 1
(2) 2
(3) 3
(4) 4

R APy Ry E:
HY L : SARIY GR e 1 WD (fae): U o= H, T18 a8 feber11 Hl g2 €1, Wepr=i 81 |
BYT I - SARIPTA AR Y 1 H2: &1 Fa e B g2 bl 3R 34ferep Siftemm o |
TR DU P 3l 1, i fGU U [dpeul H I Had Sugad STk BT 99 BiiofL:

1. YA 1 SR 11 g Hel 8

2. BYF 1 AR 11 GHI 7Ted 8

3. YT 1 Tel 8, A HYUT 11 TTad 5l

4. BYF17TAd &, Afd ST 1 T8T 8

(1) 1
(2) 2
3) 3
4) 4

1[Option ID=19645]
2[Option ID=19646]
3[Option ID=19647]
4[Option ID=19648]

Sl. No.138
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Full form of IPCC, a nodal agency in the context of climate change, is:

1. Intergovernmental Policy on Climate change
2. Intergovernmental Panel on Climate Change
3. International Policy on Climate Change
4, International Panel on Climate Change

(1) 1

(2) 2

(3) 3

(4) 4

Saarg gRac & dey UF dge ol SRul ST R AE FE s a1 2
1. Zeg-ted gierdl 3fF Tarshe a9

2. Tea-Hed UAd 319 gagHe I
3. SR Yiferdt 3 defrgie do
4. SR Ud 314 FAgHe 9o

(1) 1

) 2

(3) 3

(a) 4

1[Option ID=19649]
2[Option ID=19650]
3[Option ID=19651]
4[Option ID=19652]

Sl. No.139
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Which of the following different sized particulate matters are required for the determination of Air Quality
Index (AQI) in India?

A. PM1 (Particulate Matter Size equal or less than 1 micron)

B. PM 2.5 (Particulate matter size equal or less than 2.5 micron)
C. PM 10 (Particulate matter size equal or less than 10 micron)
D. TSPM (Total Suspended Particulate Matters)

Choose the most appropriate answer from the options given below:

A and B only
.B and C only
.Aand C only
.B. Cand D only
1) 1

(2) 2

(3) 3

(4) 4

YR ¥ a1g TUIaRT YEDioh (AQI) & MeURvI & fou Mg o 8 i SR ardl S1H-1 § Piores i geraf
@1 SaRGDdl Bidl § 2

b

e L

A.PMI (1 A5 AHR I HH U7 SIS & BB Tere)
B. PM2.5 (2.5 HTSHTH HIHR § FH U1 a6 & SO g Iar)
C. PM10 (10 A5 3HR § HH I kISR & 01619 Uer)
D. TSPM (¢l Tiad S0 uar)

=i feu T fow el § ¥ o SUgad 9Tk &1 99 HITeE:

1. Fad A AR B
. FHAAB AR C
FadA AR C
4.%FAB, C IR D
1) 1
) 2
3) 3
4) 4

[ R S

1[Option ID=19653]
2[Option ID=19654]
3[Option ID=19655]
4[Option ID=19656]
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Given below are two statements:

Statement-I Most of the world's geothermal sites are located in the circum pacific belt known as 'rim of fire'.
Statement II : Himalayan geothermal fields in India are also part of 'rim of fire',

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

3. Statement [ is correct but statement II 1s incorrect.
4. Statement [ is incorrect but Statement II 1s correct.

1) 1
(2) 2
3) 3
(4) 4

19 & w fRg T &
HYAL: 9y F SifPpar yardy @ RE &F BIR & 9 8 31d IR-I¥id 921 8 oafud g |
DU 1T : MR H fgrrerdl Yardig & Hi R siles BraR & HiTe |
IRIF FYA & Aaid A, A iU T [deddi & I Oad Iugdd 3R &1 99 Biofe:
1. YA 1 SR 11 & el g
2. BYA 1 3R 11 §HI TTad 7
3. BU 1 el 8, AP ST 1 TEd B
4. HYF 170 &, Wb HUF 11 o 5

1) 1
(2) 2
(3) 3
(4) 4

ko =

1[Option ID=19657]
2[Option ID=19658]
3[Option ID=19659]
4[Option ID=19660]
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In order to enhance interaction and promote mutual understanding between people of different states/UTS including university students
'Ek Bharat, Shreshtha Bharat' scheme launched by Hon'ble Prime Minister

. Shri Narendra Modi

. Late Shri Atal Bihari Vajpayee
. Manmohan Singh

. Late Shri Chandra Shekhar
1)1

(2) 2

3) 3

(4) 4

fafirs reaf 3R H==nfg uesn & ar (o | fayfdaray & e ot wie §) & di9 siafrm agH
IR U FHSERT &1 gerdl & & U Ue URd 48 YR Al &1 [EHTd Haieiad -1 U]
3 fopan -

1.t 9= TiEt
2. Wiy 4t sfeafaer gt
3. I g
4. TG TEIER
(1) 1
) 2
3) 3
(4) 4

[

RS

1[Option ID=19661]
2[Option ID=19662]




3[Option ID=19663]
4[Option ID=19664]
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Given below are two statements:

Statement I : By 2040, all higher education institutions (HEIs) shall aim to become multidisciplinary
institutions and shall aim to have larger student enrolments, as per NEP2020 recommendations.

Statement II: As per NEP 2020 recommendation, the aim will be to increase the Gross enrolment Ratio in
higher education including vocational education from 26.3% (2018) to 50% by 2030.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement [ is true but Statement IT is false.
4. Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

(4) 4

TP Ry E:

TUA 1 : T, TR&f1 A, 2020 B SRS & FTIR T 2040 TP T2 TR g =Ml (T9.3.918)
@ SgIaYUe YR §9- B 060 TG ST 3R JER BT AHIS 1 aed I@1 8Tl |

HYA I : T3 Q&1 A, 2020, B SR & IR, TGANTSD (308 Wied I=a? Qe § I AHie
SO D1 26.3% (2018) H SSTER T 2030 TP 50% D BT 067 BT |

TRIGd HYA & ATel® 5, 19 fau v famedt 8 & 98l 3R &1 90 Do
1. PYT1 AR 11 ST A &
L PYF 1 AR 1L AT T

3. BYT 1 9d ¢, A HUT I 39 B

b2

4. Y1 3T T, A YT 11 A B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19665]
2[Option ID=19666]

3[Option ID=19667]
4[Option ID=19668]
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In 1904, Curzon wanted to bring which of the following changes in some of the existing universities through
the enactment of Indian Universities Act ?

A. An enlargement of the functions of the universities

B. A reduction in the size of the university senates

C. The introduction of the principle of election to the senate

D. An increase in the size of the university senates

E. Stricter conditions for the affiliation of colleges to a university.

Choose the most appropriate answer from the options given below:

1.A CandE only
2.A. B, Cand E only
A, C,DandE only
A, CandD only
1) 1

2) 2

(3) 3

(4) 4

N ]




I 1004 B, YR faylaeerd SHfif-mm & sfifau gRI, $o- $8 dalaH [agfaeml §
Frafead uRad= o= =rEar o -

A. fayfaemem & ol o1 a7-GaRaRad

B. fayfaena™ Ji-e/ iy & eR H "eiast

C. ¥iHe ¥ g1a & g1 &1 Yad

D. fayideed ¥He & R & gfs

E. foufdee T el @ Tegd &1 Udl & FR 1

= fau U faeedl # I Fed SUgEd SR &1 99 Sifig:

1. $aAA, C ARE
2. %Ad A, B, C, 3R E
3. %A A, C,D 3R E
4. Badd A, C, IR D
1) 1
) 2
@3) 3
(4) 4

1[Option ID=19669]
2[Option ID=19670]
3[Option ID=19671]
4[Option ID=19672]
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Given below are two statements:

Statement-I Indian Council of Philosophical Research (ICPR). was established in 2000 by the University
Grants Commission (UGC) as an autonomous organization.

Statement II : Mahatma Gandhi National Council of Rural Education (MGNCRE) formerly National Council
of Rural Institutes (NCRI) was established in 1995 as a registered autonomous society in Hyderabad.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

3. Statement [ 1s correct but statement II 1s incorrect.
4. Statement [ 1s incorrect but Statement II 1s correct.

1)1
(2) 2
3) 3
(4) 4

Bl AR RIC ATt S

T [ : YR SRIF® o aiug (3mg. 3 3R 3t RTe1 97 2010 H fayfaenan sram smm
(@.SH.E) GRTUS W@ $i6 & &9 8 &1 75 o |

HUA 1 : GERIETG H I 1995 H HETH e AT1g FrHivr R aRwe (0,50 1. 3R 3., 9d T g
o S ofteg (U 53R 3015.) B RITTHT U Ueiierd Wi gl & w9 5 & g o |

SWRI] DY P 3Haie 1, i U U [ddheui § I Had Sugad SR BT 99+ BHifefu:
1. BT AR I EH Fel gl
2. FYF1 AR I GHI Tad &
3. U1 HEI B, Al HYA 11 TTed B
4, Y 171070 &, b1 P 11 981 ¢

(1) 1
2) 2
(3) 3
(4) 4

[

1[Option ID=19673]
2[Option ID=19674]




3[Option ID=19675]
4[Option ID=19676]
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Given below are two statements:

Statement-1 National Board of Accrediation (NBA) was established by UGC.

Statement II : National Assessment and Accreditation Council (NAAC) was established by AICTE.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but statement II is incorrect.
. Statement I is incorrect but Statement II is correct.

1) 1
(2) 2
(3) 3
(4) 4

A PRI E:
HYF T : AL TARH 1S (T1.1.0,) BT RTG53, gRIPT IR ot |
HYT I : AP A 3R TG IRNG (TLTH,) B R0 T emg 5. (AICTE) gRIBI TS o |
SR HY & Helled 1, 1< iU ¢ faedl @ 9 Had IUgad SR 1 99 BIfou:
1. YA 1 AR 11 ST Tl 8
 HUA 1 3R 11 S T B
3. BY 1 HE! €, Al DY I171eTd g
4. YT 171 8, Wich DU 1 81 8

(1) 1
(2) 2
(3) 3
(4) 4

b

L

[

1[Option ID=19677]
2[Option ID=19678]
3[Option ID=19679]
4[Option ID=19680]
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Read the following passage and answer the question:

Ideally. scientists deduce conclusions from general laws that they know to be true. For example. if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by, Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning iz more logically sound than induetive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topies and pursued hunches that appeared unreasonable to fellow scientists.

g ety 1 9feu 3R Uy &1 I Sl

3{TeRIc: AFI-Ie 31 A BIEl & Fep (ebrerd & o aR 5 9 S1Fd & b d 9 € | Sameru & &9
H, 9% 51 §Hd © 1o ®@ a%U U 88 & ([P YUl & BRUN) HHNd Bl 6, a8 39D TR &
4 Fe- 1R YT o W R | 9 ¥ [GR &1 59 diided] ol FIEAIES b1 & &4 5 oAl Sl
g | duUI sgeT gd YUNTR] 1 AR & aTd |10 S| @1 161 S § | 3&T8R0 & &4
T, 89 & © (o I9-o¥ g &l 8, Uall 31 8 3R [aqe 81 9 © | falid ®iF R R aR & oFid
D& & B 9% STHF T hd o 1o Y&l U RIH I G8 ®IF &1 3R HaRH &d © | 89 U6 IE
frm fae e o= o € &5 velt Tiam & SFuR Ve BRd © | S Nermi 9 I e 1
AT SFTHATED ddo-1 gidl § | T SRTHATE® ddb-l &1 el FRT-TeIe qb-1 dlide U § 3t
fased 8, 98 9t PRIR €I & 19 SR WU S Tl &1 | 31 &1 9 $ o g9 agen
MTHATHS a1 R R 33d § it gaR Uy 9IS 9 sifgeRi Faa g |

S l-F 1 a1 & 1Y B, SiaEY B8 SR ad o oild § | 3 oufad e H Sfdely, gorletadl,
Trerfama ok yra DI WHR HA T [ 364 & | §URI Yaiivs Heayu @lel § 3 56
Grol 9§ a1 Al 3R aeqy deRIdl & SR g1 g3 U] 39 BRI g5 1@ sddbdl 3o fawal o
YIGYU & AhR 3 Wbl BT TR0 R Tg U T 37 Wgaiif aqiHa] &l SR e 4 |

Given below are two statements:

Statement I : The fact that an apple will fall to the ground when it releases from the tree, is an example of
deductive reasoning.

Statement II: Most important scientific discoveries are made only because of sound reasoning of the
investigators.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement I are true.
. Both Statement I and Statement IT are false.
. Statement I is true but Statement II is false.
. Statement I 1s false but Statement IT is true.
(1) 1
(2) 2
(3) 3
(4) 4

13 & Py Ry U &
TUA 1 : T5 T FTHAIES G- H1 3816R0 © [ g8 I Pe-t IR 96 T IR 7R |
T 11 : Haled AgdYU a1 @il Araedls 31 fdywd () =1 & PR Gl 8 Uil © |
IRIF HYA F Aaies O, H1d feu 70 fowedi § U Ug] SR &1 99 DHifelt:
1. BUF 1 AR I EH FA B
2. FYF1 AR GH 3T B

3. PYT 1 9A B, A DY I A B

[

= L

4. PYT1 AT 8, AfpT YT A B
1 1
) 2




3) 3
(4) 4

1[Option ID=19681]
2[Option ID=19682]
3[Option ID=19683]
4[Option ID=19684]
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Read the following passage and answer the question:

Ideally. scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer, Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists,

9 T BT 9feU 3R Uy &1 3R ciforg

HERIc: A 39 TR S § 5y FeTerd § [oFe aR 1 3 SHd § @ d 99 6 | 33180 & =9
o, afe 80 9 ¢ 6 R a5 U g 1 (oI Nl & PRUN) HHd Bl 8, 96 58P TR 36
T P IR UG OHE IR R | 9 9 AR #1359 difdad] & FIEAE® do-l & 4 8 oHT Sl
¢ | quft aguT g8 oot &1 ARTERH B3 aTd JTH- B &1 6! oFd & | 3360 & &9
", 59 49d ¢ o OO @Y atadl . Uell 311d g SiR faqw 81 o1d § | fafid RHl R IR aR & o
D& T 51 T8 SHH O ad & 160 &1 U R d GaR RIH BT 3R SATGNHH B3 © | 59 TP 98
oy [Aeid @ 9ad § & uall 10 & S 9R U= &-d & | 3 Hal d 9 g8 8911 &1
A1 TS T Bl & | TEI STEATAHD a1 B! ST s a1 afbs w9 sfe
faar B, 78 Tt PRIR SidT ¢ S SHR 9IH- S 9l 8f | g & aHe & g o1 sgu
TS a1 R ik o € ifes 89 o Ui 9 sifderl Foa © |

Ffl-maft qbT & T €, AP §F SR a% & Sl § | S oAt Y H Sidely, goretad],
@Eﬁﬂﬁaﬂﬂﬁmaﬁgﬁmaﬁwmmmwﬁlqmmﬁ%% | SHR} Tt Heaqul @io 3 4 5o
Grol 9§ dq-e fafemi w8 deRidl & DRV R g% SHfUg $8 PR EE 3 Sig@dl i fawai 6
YIgyul & GQJ{GqudIW&jH{UIﬁTET‘aGﬁG-ﬂJ Heu Rl axi1-Tepl T ST TR Y |

Given below are two statements:

Statement I : The inference that birds migrate seasonally is an example of deductive reasoning.
Statement II: Deductive reasoning is always correct.
In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement I and Statement II are true.
Both Statement I and Statement II are false.
Statement I is true but Statement II is false.
Statement I is false but Statement II is true.

i

FERS)

1) 1
(2) 2
(3) 3
(4) 4




fR G ey feumu :
HYAL : T8 A, [P uefl 90 & S8R Ua8 $Rd 8, FIEAIES ddb-] &1 3360 ¢ |

U 11 : ITEAIS deb-11 L= Hel Bl g |

IRIF FYA P A@id 1, A1 14U T fawedl § U 5] 3 &1 99 Hifole:
1B ARG T
2. BY 1 AR GHI 3T G
3. BYT 1 9d ©, Al HYU 11 A B

4. BYT1 AT &, AT HYT 1 TI &
(1) 1
2) 2
3) 3
(4) 4
1[Option ID=19685]
2[Option ID=19686]

3[Option ID=19687]
4[Option ID=19688]
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Read the following passage and answer the question:

Ideally. scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists,

9 TS BT 9feU 3R Uy &1 3R ciforg

3TERIT: AR 3 WHERG BT 4 (sh HaTad § oFHd aR § d IHd § [ d 9 § | 331630 & ¥4
T, 7fE 50 9 & [ R T5gU TP gk 1 (ToaIP N0l & PRUN) SHd B 5, 76 595 SR 38
T P IR UG 9HE IR R | 9 9 AR 31 38 aifidad] & RIS do-l & 4 8 o[ Sl
& | qUft 9geT§H YUMot &1 ARTRM B3 aTd ATH- S| &1 61 oFd & | 3360 & &0
¥, 59 4d ¢ o OO @Y afadl . Uell 3i1d g SR faq@ 81 o1d § | [l Hl R IR aR & o
& T §H T8 SIHH O 9Phd & 1 Y&l U T I §IR RIH B 3R SMaFFH $3d § | 59 T T4
frw fae i o= T € 5 vel 0 & SFuR Yau &3d © | 3P Ueftl ¥ I e 9
qET ATTHATES a1 eldl & | T STHATHS a1 $i e FTa-ras g afee 9 8 s
faoe 8, 98 9t PRIR i1 8 S19 SR 9TH0 S Gel & | 31 &1 99 & o g gge
MTHTTAS ad-1 R R ovd © wuifd saR o9 9is 3§ iRl Faa g |

P T D 1Y T, AT §H SR A o oildl § | SHS oufad e H Sidely, goreadl,
Srerfend &R Y & I WiBR H 1 [dhe1 364 € | SURI Yaiiue Heayul @il § 4 5o
Arol 9§ a1 At 3R a¥qy deRIdl & SRl 6] g3 U] 59 HRUI §s 1@ sdddl 3o fawdl o
YIGyu| =10 TR 3 Hebdll P1 SHTERUI B X8 U Gl 3-1cb §gdRil axili-1epl bl SFETd a1 e o |




Which among the following play a role in achieving success in research ?

A. Reasoning
B. Insight
C.Luck

Choose the most appropriate answer from the options given below:

. A and B only
.B and C only
A and C only
A, Band C
(1) 1

2 2

(3) 3

(4) 4

My & g wife 8§ 9 8§ § 5A-fa 3t yfier e 8 2

A TH
B. 3d=y

C. H'g

ba -

e

- feu g fdw el & € Yo SUgad SR &1 909 B IWE:

1. Fad A AR B
2. HIAB IR C
3. FaTA SR C
4. A B3RC

1 1

) 2

@3) 3

4) 4

1[Option ID=19689]

2[Option ID=19690]

3[Option ID=19691]
4[Option ID=19692]
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Read the following passage and answer the question:

Ideally. scientists deduce conclusions from general laws that they know to be true. For example. if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by, Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning iz more logically sound than induetive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topies and pursued hunches that appeared unreasonable to fellow scientists.

g ety 1 9feu 3R Uy &1 I Sl

3{TeRIc: AFI-Ie 31 A BIEl & Fep (ebrerd & o aR 5 9 S1Fd & b d 9 € | Sameru & &9
H, 9% 51 §Hd © 1o ®@ a%U U 88 & ([P YUl & BRUN) HHNd Bl 6, a8 39D TR &
4 Fe- 1R YT o W R | 9 ¥ [GR &1 59 diided] ol FIEAIES b1 & &4 5 oAl Sl
g | duUI sgeT gd YUNTR] 1 AR & aTd |10 S| @1 161 S § | 3&T8R0 & &4
T, 89 & © (o I9-o¥ g &l 8, Uall 31 8 3R [aqe 81 9 © | falid ®iF R R aR & oFid
D& & B 9% STHF T hd o 1o Y&l U RIH I G8 ®IF &1 3R HaRH &d © | 89 U6 IE
frm fae e o= o € &5 velt Tiam & SFuR Ve BRd © | S Nermi 9 I e 1
AT SFTHATED ddo-1 gidl § | T SRTHATE® ddb-l &1 el FRT-TeIe qb-1 dlide U § 3t
fased 8, 98 9t PRIR €I & 19 SR WU S Tl &1 | 31 &1 9 $ o g9 agen
MTHATHS a1 R R 33d § it gaR Uy 9IS 9 sifgeRi Faa g |

S l-F 1 a1 & 1Y B, SiaEY B8 SR ad o oild § | 3 oufad e H Sfdely, gorletadl,
Trerfama ok yra DI WHR HA T [ 364 & | §URI Yaiivs Heayu @lel § 3 56
Grol 9§ a1 Al 3R aeqy deRIdl & SR g1 g3 U] 39 BRI g5 1@ sddbdl 3o fawal o
YIGYU & AhR 3 Wbl BT TR0 R Tg U T 37 Wgaiif aqiHa] &l SR e 4 |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion-A: We often rely on inductive reasoning in our day-to-day life.
Reazon-R: Inductive reasoning is more sound logically as compared to deductive reasoning.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. Ais correct but R is not correct.
4. A is not correct but R is correct.
1)1
(2) 2
3) 3
(4) 4

1 & U= U T §: U SHUBYUT (Assertion A) & =0 H (ARG § dl GIRT 3UD BRUI (Reason R) &
Sq T

HASHYF A : TG Siia B 89 SguT SRTHATED dob IR MR & |
BRUR : RHATES TH1 DI qa 3 SFTEATHD dbH1 dlided =4 9 S [y gidi g |
SWRIK] DU P 3 H, A U U [9heui & I Had SUg IR BT 98- DI |

A RR A TEI § 3R R, A P! Uel AR B |

. A 3R R G 981 €, AP R, A B UEl oUraar T B 1
 ATE T AfrT R I TR B

AT TR afdTR TS B

1) 1

) 2

() 3

4 4

B

1[Option ID=19693]




2[Option ID=19694]
3[Option ID=19695]
4[Option ID=19696]
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Read the following passage and answer the question:

Ideally. scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by, Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reagoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than induetive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topies and pursued hunches that appeared unreasonable to fellow scientists.

g ey &1 9feu 3R Uy &1 3R S

3HTERId: AR 3 TERG BT 4 sh HaTad § oFe aR Ed IHd § [ d 9d ¢ | 33160 & ¥4
. afe §9 94 & o RUA TGL TP gk DI ([F@lPNU & PRI ATHNG Dl o, 99 sHP IR g&
Y e W U OHHE W AR | 9 Y Gy B 39 diidddl & FIEATES doHl & =0 B SE] S
& | quift 9geT e el &1 AFiaRE S ard JTH- S @1 6 oFd & | 3aTeXU & &4
¥, BH 3 & [ OI¥-u g dlad 8, Y&l 31 8 3R [aqw 81 9 © | falid ®Fl R aR R & ofFid
V&I 51 9% SHM 1 Ihd © 1o Y&l U M J §8 ®IF B 3R GFH $d ¢ | 59 U IE
frw faes i = T ¢ & vel Ti0 & S uR Ve &3d ¢ | 3 Nefti ¥ I e 9 &
AT SRTHATED ado-1 Bidll § | e SRTHATE® ddbl &1 el Fr-Tete ddb-1 dlidd U § 3t
fas 8, 98 9t PRIR €11 8 S19 SHR QTH-I S Sl &1 | 31 &1 9 & o g9 ggen
MTHATHS a1 R R 3d § i saR Uy 9is ¥ 3ifgeRi Faa g |

Hl-E a1 & 1Y B, SiaEY 58 SR a o oild § | 3 oufad e H Sfdely, goretad],
ﬁmmmﬁm@aﬂaﬁ@wmﬁﬁﬁw@% | SR aftes Teayul el & 3 55
Grol 9§ de fafemi Y TeRIdI & BRI 6] g3 U] 58 BRI §s 1@ sliddbadl 39 fawal o
WWWHWWG@WW@Q@WWW@MW@Q |

According to the passage, some of the scientists were able to make important discoveries primarily because of
their :

A Passionate interest in the subject
B. Superior scientific method
C. Objective detachment.

Choose the correct answer from the options given below:

Aonly

B and C only
A and B only
A.BandC

it i

(1) 1
(2) 2
(3) 3
4) 4
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1.Had A
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4. AB3RC




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19697]
2[Option ID=19698]

3[Option ID=19699]
4[Option ID=19700]




